ASIT IS in the EA

Expert - EA for EMA 5,6

O programie  Ogélne Wpisz parametry Zaleznosci

Zmienna Wartosé ~
Lvlﬂ Max spread. points 70

lgﬁ Slippage, points 20

,/_-:'] Use close by opposite signal .false

en trade if already opened

{-ﬂ Use RonZ true
gzﬁ TakeProfit, points 0
uﬂ StoplLoss. points 400
L"ﬂ SLnTPMode HiddenSLn TP
gﬂ Target Pips to Lock Profit 80
i) ProfitTo Lock 50
Lgﬁ Trailing Method . Step Keep Distance
23] Trailing Stop 1150
i) Trailing Stop Step [200
|~ Enable Alert false
' c2
| Fixlots 10
Use money management false
% from equity 50
Order comment . EA-EA-EA
[gﬂ Magic number .88888
ab] ¢5 ' FOR INFO
i‘{:-j Show panel true
L_éj Textcolor [ | White

fd] X 10
3] ¥ 35

b c6 Motifications

in the MetaEditor | assume it is this section

{

if (TargetPoints==0 || LockedPoints==0) return false;

if (OrderSelect (TiketOrder, SELECT BY_TICKET,MODE TRADES)==false) return false;

double CurrentSL=(OrderStopLoss () !=0)20rderStopLoss():OrderOpenPrice();
double point=MarkstInfo( ersymbol () ,MODE_POINT)

int digits=(int)MarketInfo(Ordersymbol (),MODE DIGITS).

double minstoplevel=MarketInfo (OrderSymbol (),MODE_STOPLEVEL);

double ask=MarketInfo (Ordersymbol (),MODE ASK);

double bid=MarketInfo(OrderSymbol(),MODE_BID);

double PSL=0;

if ((OrderType ()==0F_BUY) && (bid-OrderOpenPrice()>=TargetPoints*point) && (CurrentSL<=0r

PSL=NormalizeDouble (OrderOpenPrice () + (LockedPoints*point) ,digits) ;
}
else if((OrderType()==0P SELL) && (OrderOpenPrice()-ask>=TargetPoints*point) && (CurrentSL>=OrderOpenPrice()))

PSL=NormalizeDouble (OrderopenPrice () - (LockedPoints*point),digits);
i
else
return false;

Print (STR OPTYPE [OrderType()]1," #",OrderTicket()," ProfitLock: OP=",OrderOpenPrice()," CSL=",CurrentSL," PSL=",PSL," LP=",LockedPoints);

if (orderModify (orderTicket (), OrderopenPrice (), PSL,OrderTakeProfit (), 0,clrRed) )
return true;

el se
return false;

return false;
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402 int CalculateCurrentOrders ()

403

404

{
int buys=0,s5e11s5=0;

[

for{int i=0;i<OrdersTotal();i++)
{
if (orderselect (i, SELECT_BY POS,MODE TRADES)==false) break;

if (ChartSymbolSelection==CurrentChartSymbol && OrderSymbol()!=Symbol()) continue;

if (orderType () ==0P_BUY)
buys++;

if (orderType ()==0P_SELL)
sellst+t;

}

if (buys>0) return(buys):
else return(-sells);

e e e e T e e e s s s T =
bool RZ_TrailingStop (int TiketOrder,int JumlahPoin,int Step=1,ENUM TRAILINGSTOP_ METHOD Method=TS STEP DISTANCE)

{

if (JumlahPoin==0) return false;
if(orde:saiect(Tiketorder,SELECTﬁBYiTECKET,MODEiTRADES)::false) return false;

double CurrentSL=(OrderStoploss() !=0) 20rderStoploss () :OrderCpenPrice () ;
double point=MarketInfo (OrderSymbol () ,MCDE_POINT) :

int digits=(int)MarketInfo (OrderSymbol (), MODE_DIGITS) ;

double minstoplevel=MarketInfo (OrderSymbol () +MODE_STOPLEVEL) ;

double ask=MarketInfo(Ordersymbol () ,MODE ASK);

double bid=MarketInfo(Ordersymbol () (MODE_BID);

double TSL=0;

JumlahPoin=JumlahPoin+(int)minstoplevel;

if ((OrderType ()==0F_BUY) && (bid-CrderopenPrice()>JumlahPoin*point))
{
if (CurrentSL<OrderCpenPrice())
CurrentSL=0OrderOpenPrice () :

if((bid-CurrentsL)>=JumlahPoin*point)
{
switch (Method)
{

case TS CLASSIC://Classic, no step
TSL=NormalizeDouble (bid- (JumlahPoin*point),digits);
break;

case TS_STEP_DISTANCE://S keeping distance
TSL=NormalizeDouble (bid- ( (JumlahPoin-Step) *point) ,digits);
break;

case TS _STEP. BY STEP://Step by step (slow)
TSL=NormalizeDouble (CurrentSL+ (Step*point),digits);
break;

default:
TSL=0;

else if((OrderType()==0P_SELL) && (OrderOpenPrice()-ask>JumlahPoin*point))
{

if (CurrentSL>OrderCpenPr

CurrentSI=0OrderCpenPrice();

1if((CurrentSL-ask) >=JumlahPoin*point)
{
switch (Method)
{

case TS CLASSIC://Classic
TSL=NormalizeDouble (ask+(JumlahPoin*point),digits);
break;

case TS STEP DISTANCE://S

distance



476 TSL=NormalizeDouble (ask+ ( (JumlahPoin-Step) *point),digits);

477 break:

478 case TS_STEP BY STEP://Step by step (slow)
479 TSL=NormalizeDouble (CurrentSL- (Step*point),digits);
480 break;

481 default:

482 TSL=0;

483 }

484 1

485 }

486

487 1E(TSL==0)

488 return false;

489

490 Print (STR_OPTYPE[OrderType()1," #",OrderTicket(),™ TrailingStopR: OP=",OrderOpenPrice()," CSL=",CurrentSL," TSL=",TSL," TS=",JumlahPoin," Step=",Step
451 bool res=OrderModify (OrderTicket (),OrderOpenPrice (), TSL,OrderTakeProfit(),0,clrRed);
492  if(res == true) return true;

493 else return false;

494

495 return false;

496}

R e +
498 //

I R ] +
500 bool SetSLnTP()

501 {

502 double SL,TP;

503 SL=TP=0.00;

504

505 for(int i=0;i<OrdersTotal();i++)

506 {

507 if (OrderSelect (i, SELECT BY POS,MODE_TRADES)==false} break;

508 if (ChartSymbolSelection==CurrentChartSymbol && OrderSymbol () !=Symbol()) continue;
509

510 double point=MarketInfo(Ordersymbol () ,MODE_POINT) ;

511 double minstoplevel=MarketInfo (OrderSymbol (),MODE STOPLEVEL) ;
512 double ask=MarketInfo (Ordersymbol (),MODE_ASK);

513 double bid=MarketInfo (OrderSymbol (),MODE BID) ;

514 int digits=(int)MarketInfo(OrderSymbol(),MODE DIGITS);

//Print ("Check

0

L & TP rTakeProfit (});

double ClosePrice=0;
int Points=0;
color CloseColor=clrNONE;

//Get Points
if (OrderType ()==0P_BUY)
{
CloseColor=clrBlue;
ClosePrice=bid;
Points=(int) ( (ClosePrice-OrderCpenPrice ()) /point);
}
else if(OrderType()==0P_SELL)
{
CloseColor=clrRed;
ClosePrice=ask;
Points=(int) { (OrderOpenPrice () -ClosePrice) /point);

}

//Set Server SL and TP
if (SLnTPMode==Server)

{

if (OrderType{)==0P_BUY)
{
SL=(StopLoss>0) ?NormalizeDouble (OrderOpenPrice () —( (Stoploss+minstoplevel) *point) ,digits) : 0;
TP=(TakeProfit>0) ?2NormalizeDouble (OrderOpenPrice () +{(TakeProfit+minstoplevel) *point),digits):0;
}

else if (OrderType ()}==0P_SELL)
{
SL=(StopLoss>0) ?NormalizeDouble (OrderCpenPrice () +( (StopLoss+minstoplevel) *point) ,digits) :0;
TP=(TakeProfit>0)?NormalizeDouble (OrderOpenPrice () —((TakeProfit+minstoplevel)*point),digits):0;
}

if(0rderStoploss()==0.0 && OrderTakeProfit{)==0.0)

bool res=0OrderModify{OrderTicket(),0OrderOpenPrice{),SL,TP,0,Blue);



else if (OrderTakeProfit ()==0.0) i
bool res=OrderModify(OrderTicket(),0rderOpenPrice(),0OrderStopLloss(),TP,0,Blue);
else if(OrderStopLoss()==0.0)
bool res=0OrderModify(OrderTicket(),OrderOpenPrice(),SL,0rderTakeProfit(},0,Red)
}
//Hidden SL and TP
else if({SLnTPMode==Client)
{
if((TakeProfit>0 && Points>=TakeProfit) || (StopLoss>0 && Points<=-StopLoss))
{
if(OrderClose(OrderTickset (), OrderLots () ,ClosePrice, 3,CloseColor) )
{
if (inpEnableRAlert)
{
if (OrderProfit (}>0)
lert ("Closed by Virtual TP #",0rderTicket{)," Profit=",0OrderProfit(),™ Points=",Points):
if (OrderProfit (}<0)
lert ("Closed by Virtual SL #",OrderTicket()," Loss=",0OrderProfit()," Points=",Points);:

if(LockProfithfter>0 && ProfitLock>0 && Points>=LockProfitAfter)
{if (Points<=LockProfitAfter+TrailingStopR)
{Lock]?rofit (OrderTicket () , LockProfitAfter, Profitlock) ;
el;e if (Points»=LockProfitAfter+TrailingStopR)
{RZ_TrailingStop (OrderTicket () ,TrailingStopR, TrailingStepR, TrailingStopMethod)
}

elée if (LockProfithfter==>0)
{
RZ TrailingStop (OrderTicket(),TrailingStopR,TrailingStepR, TrailingStopMethod);
}

return false;
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TO BE REPLACED BY 10 STEPS script

Expert - lock_profit_10_level__tp_sl

0 programie  Ogdlne Wpisz parametry
Zmienna Wartosé

,‘«"ir‘] Preset_SL 50.0
:'_‘-"i_'j Preset TP 500
L!d Targetl '4
3] LockProfil 5
Lﬁ Target2 | 8
@ LockProfit2 '5
[ﬂ Target3 12
fﬂ LockProfitd '9
23] Targett 18
23] LockProfitd 15
L!d Targets 24
3] LockProfits 20
Lﬁ Targeth | 30
@ LockProfits | 27
[ﬂ Target? 136
@3] LockProfit? 22
23] Targets 40
@] LockProfit 8
L!ﬂ Targetd 46
[ﬁ LockProfitd 42
Lﬁ Targetl0 | 50
@3} LockProfitl0 47




